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IIpucBoroBana kBajidikaniss - MaricTp

Entrance Test of English for Master Program Students in 2017

Level: intermediate to upper-intermediate

Time: one hour 20 minutes

Format of the structure: the test has 4 sections:

1. Listening comprehension

2. Reading comprehension

3. Structure

4. Writing

1) Listening — measures the ability to understand English. This section tests comprehension of
main ideas (of sentences and texts), supporting ideas, important details.

2) Reading — measures the ability to understand short academic texts.

You will read and answer several questions about each passage.

3) Structure — measures the ability to recognize language that is appropriate for standard written
English.

4) Writing — measures the ability to write in English on an assigned topic. You must compose a
paragraph (10-12 sentences). You must write only on the topic that is assigned to you. Your writing
task will be assessed on the basis of the content structure, grammar, vocabulary and evaluated
maximum 20 points.

The main grammar material includes:

Verbs:

Tenses (active, passive)

Conditionals

Modals

Verbals:

Participle

Infinitive

Gerund

Reported speech

Nouns:

Articles

Quantity/ some, any, much, many, a lot, (a) few, no, none, both, either, neither

Pronouns:




Personal

Possessive

Reflective

Adjectives:

Form

Position

Comparative & superlative adjective as...as

Adverbs

Relative clauses (defining — non-defining)

Linking words of time, contrast, reason result, purpose.

Prepositions of time, place, movement etc.

Berynnmii TecT 3 aHrIIiichK0l MOBH 1UIsi MaricTepcsknx nporpam 2017 p.
PiBeHs: cepenHiii, BUCOKHI
Tpusanicts: 1ron 20 xB.
CtpyKTypa : TecT cKJIaaeThes 3 4 YacTUH
1. AyniroBaHHs
2. Yuranus
3. CtpyxTypa
4. Iucemo
1) AyniroBaHHS — mepeBips€ CIPUHHATTS aHTJICbKOT MOBH Ha CiyX. Ll yacTuHA TECTY BKJIIOYAE
TIEPEBIPKY PO3YMIHHS I'OJIOBHOT'O 3MICTYy pEUCHB Ta TEKCTIB, i/1eif, BaxMBoi iHdopmMallii.
2) UwurtaHHsS — TepeBipse pO3yMiHHSA KOPOTKHX HaBYajbHHX TekcTiB. IloTpiOHO mpoyuTaTtu Ta
BIAIIOBICTH HA 3aIIMTaHHS A0 KOKHOI YaCTHHH.
3) CtpykTypa — nepeBipsc 3HAHHS JIEKCHKM Ta FPaMaTHKH , BMIiHHS TPABUJIBHO pO3IMI3HABATH
MOBY Y BiIIIOBIIHOMY KOHTEKCTI 3TiJHO CTaHOAPTIB MHCHMA.
4) TIuceMo — IepeBips€ 3MaTHICTH YCIIIIHO BUKOHYBAaTH KOMYHIKaTHBHI 3aBJaHHS B IHCHMOBIH
¢dopmi Ha 3anponoHoBaHy TeMy. [ToTpibHO Hamucatu naparpad 3rigHo 3ampornoHoBanoi Temu (10-
12 pedens).
OcHOBHUI rpaMaTU4HUN Matepial, KUl BKIIOYaE:
HiecnoBa
Yacu nmiecnoBa (aKTHBHUH, TACHBHUHN CTaH J1€CI0BA)
YMOBHI peyeHHS
MopanbHi niecinoBa

HeocoboBi dopmu nieconra:
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SAMPLE MASTER PROGRAMME ENTRANCE TEST

SECTION I. Listening Comprehension

| Part A. Listen to the text and then read the four questions. Choose the best possible answer to each

question. You will have 2 min 30 sec to complete this task. (8 points)

o

|
1. How old were the children in the marshmallow experiment?
4 years old

b. 6 years old

e

12 years old
d. 14 years old

2. What did most of the children do when Dr.Mischel left the room?

a. They ate the marshmallow immediately.

b. They ate the marshmallow after a few seconds.

c. They waited five minutes and then ate the marshmallow.

d. They waited 15 minutes and then got two marshmallows.
3. The results of the marshmallow experiment showed that

a. the “waiters" focused on the marshmallow.

b. the “waiters” didn’t want the marshmallow.

c. the “waiters” distracted themselves from the marshmallow.
d. the “waiters” liked singing songs.

4. What was the effect of Dr. Mischel’s research?




a. Schools began using the marshmallow experiment to measure intelligence.

b. Schools began teaching students how to control their thoughts and behaviour.
c. Schools began teaching more psychology than they did in the past.
d. Schools stopped using intelligence tests to identify good students.

Part B. Listen to the statements and decide whether the following conclusions are true or false. You

will have 30 seconds to make each choice. (8 points)

5. There are too many empty seats.

6. I finished the assignment rather quickly.

7. The meeting didn’t go smoothly, even with your help.
8. At the engineer's insistence, they levelled the bridge.
SECTION II. Reading Comprehension

Read the following text and decide if each sentence below is true (T) or false (F) (14 points).

Living in the city might affect one’s hearing. Car horns, buzzing motorcycles, construction site
noise — these all are sounds of daily city life. As the size of our cities increases, so does the noise
level with which citizens have to live. Traffic noise seems to be the worst criminal, and

unfortunately, traffic intensity is expected to increase by 30 percent in the next 15 years.

According to the recent research, almost one-fifth of city dwellers suffer from very high noise
levels. While it was once thought that ‘noise pollution’ was simply an annoying inconvenience, new
studies have shown that continued exposure to loud sounds can seriously affect human heaith. An
advisor to the World Health Organization has explained that noise causes stress, and this type of
stress restricts blood flow to the vital organs. People who live on busy streets have higher blood
pressure than those who live on quiet ones. Pregnant women who live near airports have more often
premature and underweight babies, as a result of harmful hormonal changes which are triggered by
loud sounds. Furthermore, caused by noise stress makes biochemical substances be released by the

body, which negatively affects the heart, brain and nervous system.

The World Health Organization has declared that environmental noise in residential areas should

not exceed 55 decibels, although some people, especially those with heart problems are sensitive to
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levels as low as 35 decibels. At the 80 decibel range, physical discomfort starts, and continuous
exposure to noise at that level causes gradual hearing loss. While noise levels higher than 115
decibels are not unusual in discos and rock concerts, the dancers and fans may pay the price later in

life: damage to hearing is cumulative and irreversible.

1. According to the author, traffic seems to cause most crimes in the city.
2. In 15 years, traffic intensity in the city is expected to be twice as big as it is now.

3. Biochemical substances released by the body because of noise worsen the state of people’s

nervous system.
4. According to the author, people with heart problems are indifferent to environmental noise level.

5. Because of noise-related hormonal changes in pregnant women, their babies can be born

premature.
6. The level of noise in so called “sleeping areas” cannot be higher than 35 decibels.

7. The writer concludes that with age, fans of loud music suffer from hearing damage, which cannot

be compensated.

SECTION III. Structure

Part A. Choose the most suitable word or phrase to complete each sentence. (30 points)
1. I wish she more efficiently at this project.

a. had been working

b. worked

c. has worked

d. would be working

2. He fix his computer when it broke down.
a. was able to
b. could




c. needed

d. can

3. Being a talented scientist, he never sure about his exceptional abilities.
a) has been

b) was being

c) would be

d) had been

4. I would be grateful if you the news to yourself.

a. will keep

b. will be keeping

c. have kept

d. kept

5.He vulnerable to people’s opinion, but now he prefers to live his own way.
a. used to being

b. has been

c. would be

d. used to be

)

. It is worth your mind in these exceptional circumstances.

®

changing

b. to change

C. change

d. being changed

7. They built this temple 3,000 years ago. Thismust __ a great civilization.
a. was




b. has been

c. have been

d. not have been

8. If only she to her principles, she wouldn't have been led astray.
a. sticks

b. stuck

c. had stuck

d. has stuck

9. Judging by the way he looked, he seemed

a. inform

b. to be informed

c. informing

d. to have been informed

10. Everyone failed the test,
a. didn't they?
b. did he?
c. haven't they?
d. didn't he or she?

11. This time next week we
a. have been flying

b. will be flying

of the possible bankruptcy.

over the Atlantic!

c. would have flown
d. will fly
12. You miss the deadline or you’ll have to pay a fine.




a. better not

b. ‘d better

c. ‘d better not

d. had no better

13.If 1 the bus, I wouldn’t have been late.
a. hadn’t missed

b. have missed

c. miss

d. will miss

14. When we moved here, this Shopping Mall
a. was already been building

b. has just been built

c. was recently built

d. was only being built

15. Take your suit to the dry cleaner’s and

a. clean it

b. have cleaned it
c. have it cleaned
d. let it clean

| Part B. Find the one underlined word or phrase that must be changed (20 points).

1. Some of the land nearby® is such®™ wet, hot, and covered with jungle that a few® people

inhabit® the area.

2. Enzymes enable® the smallest virus to enter™ cells in order to' reproduce themselves'®.
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3. Despite® more than 2000 minerals are known, nearly all rocks are formed from® seven

mineral groups.

4. The Mossi people of West Africa use talking drums as a means® of preserving their™ history,

that has been handed down'? by generations.

5. Freud’s ideas have had® a great influence on® the study of personality, because'

19,

they are

highly controversia

6. His speech was a careful® worded® attempt to evade® his responsibility in® the matter.

7. Chicago's Sears Tower, now the taller™ building in the world, rises'® 1,522 feet from the

ground to the top of'® its antenna.

8. Vitamin E, which is found® in nutritious™ foods such as green vegetables and whole grains,

action'” as an antioxidant in cell membranes'?.

(b)

9. The codfish lays® million® of eggs each year, only!® a small percentage of which® actually

hatch.

10 .The chimpanzee possesses hand tool®, the sticky termite stick, with which® it digs termites

out of logs and stumps.

SECTION IV. Writing

Circle the number of the topic you choose and write 10-12 sentences to answer the question. Your

writing will be assessed on the basis of the content, structure, grammar, and vocabulary (20 points).

1. A foreign visitor has only one day to spend in your country. Where should this visitor go on that
day? Why? Use specific reasons and details to support your choice.
2. What is a very important skill a person should learn in order to be successful in the world today?

Give reasons and examples to explain your answer.
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KPUTEPII OI[IHIOBAHHSI
BuxoHnaHHs ek3aMeHaIliiiHOT pOOOTH OIIIHIOETHECS 3a ABOOANLHOI0 MIKAJIOI0: «CKJAaB/He
CKJIAB».
Oninka «ckj1aB» 03Hayae, U0 32 BHKOHAHHS €K3aMEHAIIHOT poOOTH 3 aHIJIiHCHKOT MOBU
abiTypieHT oTpuMaB pe3yibTat 50 i Oinblie Gais.
OniHka «He CKJIaB» 03HAuae, M0 32 BUKOHAHHS ek3aMeHalilfHOl poOOTH 3 aHIUIIHCHKOT
MOBH abITypi€EHT OTpUMaB pe3yiabTaT MeHite 50 Oais.

PesvabTaTt 91-100 6aJiB B ex3amenauiiiniii podori o3Hauac:

— BLJIbHE BOJIOJIHHS aHIJIiICHKOIO MOBOIO Ha piBHI BHIe-cepeaubomy (Upper-Intermediate level);
— YMIHHS BUTBHO BUKOHYBATH €K3aMeHaIlifiHi TeCTOBI 3aBJaHHA 3 ayTilOBaHHS, YATAHHS, JIEKCHKU
Ta rpaMaTHKU B 00Cs31 Iporpamu;
— mnpaBuibHI Bianmosiai Ha 90-100 % TecToBUX 3aBAAHb,;
— BHUKOHaHHA MHCBMOBOI'O 3aBJaHHS 3 YpaxyBaHHSM Bcix BUMOT, Ha 90-100 %.
[T1cbMOBe 3aB/IaHHA OIHIOETHCS MakcHMalbHO B 20 OaiiB, SAKIIO TeMa ITOBHICTIO PO3KPHTA,
opraHizaniiga moOyIoBa TEKCTY JIOTiYHA, TOJNIOBHA OyMKa YiTKa i Ma€ MOJAIBIIAN pPO3BUTOK,
rpaMaTU4Hi Ta JCKCHYHI MOMUJIKHA IPAaKTHYHO BiCYTHI.

Pesvabrar 71-90 0aJiiB B ex3aMeHaliiiHiil podoTi 03HaAYAE:

— CHCTEMHE BOJIOJIHHS aHIJIIHCHKOIO MOBOK) Ha CepeHbOMY/BHILNE CEPeIHBOrO  PiBHI
(Intermediate/Upper-Intermediate levels);

— JIOCTaTHBO J00pe YMiHHS BUKOHYBATH €K3aMeHAIliiiHi TeCTOBI 3aBJaHHS 3 ayIiFOBaHHSA, YATAHHS,
IPAMAaTHKH Ta JIEKCUKHU B 00Cs31 MPpOrpaMu;

— TMpaBmIBHI Bignosiai Ha 70-89 % TecTOBUX [IUTAHb;

— BUKOHaHHS MUCHMOBOTO 3aBAaHHs Ha 70-89% (14-17 6anis i3 20 MOXIIHBHX ).
ITnceMoBe 3aBIaHHS B OCHOBHOMY PO3KPHBAaE TEMY Ta Mae JIOTiYHY N0OYI0BY; OKpeMi HEMOJIKH

B CTPYKTYpi TEKCTy Ta PO3BHUTKY TOJIOBHOI iiei, Jeski rpaMaTHuHi, CHHTAKCHYHI Ta JIEKCHYHI

HETOYHOCTI HE BIUIMBAIOTh HA PO3YMiHHS TEKCTY.

PesvabTar 50-70 0aJjgiB B ek3aMeHaliiiHii po0oTi 03Havae:

— BOJIOZIHHS aHIJIIFICBKOI0 MOBOIO Ha CepeAHbOMY piBHI B HeoOXximHomy o0cs3i (Intermediate
level);

— 06a30Bi yMiHHA BUKOHYBaTH €K3aMeHallilHi TeCTOBI 3aBJaHHs 3 ayAiIOBaHHS, YATAHHS, BYKHBAHHS
IpaMaTHKH Ta JIEKCHKH,

— TMpaBWIbHI BinoBigi Ha 50-69 % TecTOBUX IMTAHD;

— BUKOHAHHS NUCBMOBOTO 3aBAaHHA Ha 50-69 % (10-13 Ganis i3 20 MOXKIHBHX).
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[InceMoBe 3aBAaHHsS HE TIOBHICTIO PO3KPHBAE TEMY, YHCEIIbHI HEIOJIKH MOOYIOBH Ta JIOTYHOI
CTPYKTYpH, OOMEXCHHIH CJIOBHHKOBHH 3amac, TpaMaTU4Hi IIOMHJIKY €IEMEHTapHOTO piBHA
YCKIITHIOIOTh PO3YMiHHS TEKCTY.
PesyabTaTr Menmie 50 6aJiB B ek3aMeHaniiiHiil po0oTi 03Hauae:

— HEJIOCTaTHIH piBE€Hb 3HaHb 3 AHINIINHCHKOI MOBH; CTa0Ke BMiHHS BHKOHYBaTH €K3aMCHaIliiHi

TECTOBI 3aBJIaHHY,
— HEBIANOBIIHICTh 3HAHHS IPAMATHKH Ta JIEKCHKH PiBHIO BUMOT IPOrpaMHu;
— cnabKi BMIHHS | HABHYKHA YUTaHHSA, aylilOBaHHS Ta MHCbMa;
— HE PO3KPUTY TeMY IIpY BUKOHAHHI MUCBMOBOTO 3aBJaHHSI.

TekcT NHCBMOBOrO 3aBIAaHHS  XapaKTEPU3YEThCS  BIACYTHICTIO JIOTIKH B MOOYyIOBI
BUCJIOBJIFOBAHHS 1 Ma€e xyxe 0OMeKeHHH CIIOBHUKOBHH 3amac; MOpyIIeHHs] OCHOBHUX I'PaMaTUYHUX

Ta CHHTAaKCUYHUX MIPABHJI 3aBaXa€e PO3YMiHHIO.

3aTBepIKeHO HA 3acilaHHi Kadenpu aHIIiCHKOT MOBH (aKy/IbTeTy TyMaHITADHAX HAYK

IIpotokosn Ne8 Bix 22 mororo 2017 poky

I'os0Ba daxosoi

aTecTraniiiHol KoMmicii /7 IIeuakaI'. O.

2~ Masin JI. M.

3aBinyBau xadenpu

e (Hinrmc)
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